1. Check your answer to Problem 12.37 (5th Problem on HW#3) with SPICE.

Figure P12.31
2. Problem 12.38.

a
The circuit parameters in the circuit in Fig. P12.31

are R=50000Q, L =1H, and C = 025uF. If

Vi = 15V, find v,(r) for ¢ = 0. Vae

3. Find f(t) for the following functions:

s® +85%2+165+12
(@) F(s)= >
S°+55+6

(b) F(s) = 25°—4s5+2

(s + 2)3

s+3
OF()=———
©F() s? +4s5+5

3s+2
d)F(s)=——12
FE (s? +25+5f

4. Apply the initial and final value theorem to each transform pair in Problem 3, if possible.



From HW 3,

i, (t) = (133.33e 2™ —33.33¢ ™ u(t) [mA]
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Time [s] Calculation | Simulation
0.0000 100.000 100.000
0.0005 48.440 48.490
0.0010 18.033 18.053
0.0015 6.638 6.646
0.0020 2.442 2.445
0.0025 0.898 0.900
0.0030 0.330 0.331
0.0035 0.122 0.122
0.0040 0.045 0.045
0.0045 0.016 0.017

- - - —— — — 0.0050 0.006 0.006

o —LIL1]

Fig. Simulation result

SImulation vs. Calculation
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Fig. Simulation and calculation results
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